[https://HAR SR .com] HAR RGBSR EF 2 —2 1 FHFa—X 230@) HEPA. 5 BEOME MO005

(1) FEFEN9x—23y=1 Ofif L2 DARE x, y ODFT, x DEIE/NOH DI
x= 7 | y=[A V| ThHY, FNTOBREMIL, kEEKLELT
a=| A e+ 7 |, y=[ mF e[| L xED.
(2) A9 DEHTHHHBIA L 23D THHHAI B O (A, B)&5EZ 5,
A L BDOEDHEN 1 L7254 (A, B)OHT, A NR/INIRDHDIE

(A, By=(19x[ 7 | Bx[7=]) b2,

F/2, AL BOEDHSEN 2 7254 (A, B) ODHF T, A NE/NIRD DI

(A, By=(9x[ % | 8x[+=]) b2,
B) HtTH=Zo0OHERK a, a+1l, a+2%2EZD,
al a+1l OFRAKIHIL]
a+1 & a+2 OFRRAHEITL

ala+2 OEKAWEITT EE] ¥ |
Th D,
2, ROFERTRTOALKK a THRVEDE S ZRARE m D5 H, HROHLODIE

m=[ Y |Tws,

&Mt ala+1) a+2) X m OERTH S,
@) 6762 % KRBT & 6762=2x] 7 |xTOX[ V7 | Tl 5.
b A, bb+1)b+2) 45 6762 DRFHLL 72 5o H RS LT 5,
SorE, b, b+l, b+2 OVFRMNE T O THY, £, b, b+1, b+2 0
Y EAPNES DI TH 5.,
LEnisT, b=[ FF=]Thas,

1) 144 % EREST 5 & 1=20x[ 7 Db, 144 0EOREOERIL

[=x|fEcHs,

2) FEHFENX144x—Ty=1 OISR x, y DT T, x OHEHEIF/NI 72 % DI
x=[ # |, y=[X7 | ThY, TATOREMmL, kEEKE LT
w=[ 7 k+[ 7 |, y=[mv p+[F7 ] e kans,

(3) 144 54T, T TEST-HLRVN 1 L2 AKRKD S B, EOKEOMELEN 18 (8T
HHFANO O U] X | ThY, EOKKOREEA 30 8 TH 5RO b DL
x| &Y | Ths,




